Precinct 4605

N~
= —
- 2 EER
o _ m 5 53 =
l = 3 t2.
~ [ 22 e=y e
3 E g3 82 | zif £
O 325 58 £5s
o ELOET E
£ s2gfes | 2c: 3
S r— SBEss5e 558 O
w 88 1
— I JAV H1G8 3S £ | 3IAV Hivg 38
— % NV HIS8 s o >
3NV HLY8 IN 2 x 3| IWHLYE3s AV HLv8[3 =
3NV H1v8 3S 4 m 3NV H1v8 35 s 3INVY QHeEg 3S 3NV ayes As m‘ _ T vl
3AV Q¥eg IN 3NV QY8 3 2 < W w
w u _ 3AV ANZ8)3S
» 3JAVaNzZ8 aN 2 & \
o Z|l =z 3AV 1S[8 IS 3AV 1STB IS
(] =
o) . 3AV H108 35
9 7 3NV 1ST8 BS z 5 u m = 3AV H108 35 Z B
<! 3IAVHL08 3N ° n e 7 \ z
o %) 3 =
o @) JAV H1D8 IS 2 — zZ »E 0 = =
2 = = 0 5 X Z > Z z AV H16. 3S
3AV HL6Z 3N 2 3NV H16. 8S g o 2 I oS 2 & 3] — [
) aaduiss bs S 0 = g T - 7 0 W AV HIL8, 35 »
£ S| 3aavHLg/3s < 0 »n %) @ 2 .
3AV HI8. 3N 0 x 2 = < E—3JAVHL. 35
@) o < = O NV HLLL3S | =
= = wl © [T 3AV H19/ 3S w
wl n = %) = ~ L ] F m n_m
— w o0 x o " ) o —
3AV HL9Z 3N ENTTES % n o) @ - = z
x m INVHL9L3S Q = Gle - 3AV H1S/ 3 - <
ERTTIE 3nv s, 35 = F = wl g e IAV HIS/ IS =
= %) z <
B IV HIb. 3 NV Hiv|3s W oY 595 & =
z 3IAV HLpZ 3N ) @ z” =0 15 E AV HLpZ 35 AVHLY IS |-
< 5P IV avel3as |z INvHLpL3g &I € o Z 7
2 3NV Q¥e/ IS = bl £ < 5 3NV Q¥e/ 3s ]
3 3AV ades IN & 3/ Nz, 3¢ » wl wy T o
— c = AV ANzZZ3s | 0 o |8 & 2| 3vades3s
3AvVaNzz aN 3AV aNeZ 3S @7/_ u 3NV 1ST/ 35 * _ - c b 157) 2
D
IV 1ST2 3N SITSTEER Y, & ENASETS i o 5 ~ —
A/ O R (o) Q
o/ w ANTHL0LIS (S Z 3AV HLOZ 3S & 5 2 ©
3AV H10L BN z o &2 22 % - R
SV HLdZ 3N sl5 2 v Hise e 2| <% K9 CIR < 5 =8 2
AN HLEYAN 22 IRBEIR S g rRVE » £ d 2 AECCERS
= [a) I —=H 1
AV HLG9 IN \\ Q g5 IAVHIG9 3§ > ° P\\/ u g O s 2| 3AViHI89 IS o
W w (7] Py ] =
AV HL89 IN F T AR % B u 5 m -
Y HIZOIN |- N - a m
L
% ol = o« < _ % AV HILL9 35 o
IAVHI99an |2 a o 6 5 IAV H199 3 = &
< e/ w w m & = 3AV H199 3S
W IAVHL99 IS Hligg x| K O o —
IAVHLIS9 IN | o m NV HLS9 35
| N m
AV H1S9 3S oER @) INVHIYY IS | [—
QE ol IAV HLY9 35 A iitoos
3AV QHE9 IS IAV QHE9 S —
3AV aye9 AN _ 3S |

0.8
I \ileS

0.6

0.4

0.2

0.1



